ICS 201 Quiz 3   Solution May 25, 2005
Student Name:


ID:


Section: 3
1) Fill in the following table showing how the given list of integers will be sorted by the insertion sort algorithm. 
	 
	6
	10
	8
	1
	4
	7

	pass1
	1
	10
	8
	6
	4
	7

	pass2
	1
	4
	8
	6
	10
	7

	pass3
	1
	4
	6
	8
	10
	7

	pass4
	1
	4
	6
	7
	10
	8

	pass5
	1
	4
	6
	7
	8
	10


2) Fill in the following table showing how the given list of integers will be sorted by the insertion sort algorithm. 

	 
	6
	10
	8
	1
	4
	7

	pass1
	6
	10
	8
	1
	4
	7

	pass2
	6
	8
	10
	1
	4
	7

	pass3
	1
	6
	8
	10
	4
	7

	pass4
	1
	4
	6
	8
	10
	7

	pass5
	1
	4
	6
	7
	8
	10


3. What is the output of the following Java code?

import java.util.*;

class Item {


public int value;


public String toString() { return value + " "; } 

}

class Qz3 {


public static void main (String [ ] args) {



LinkedList list1 = new LinkedList();



for(int i=0; i<6; i++){




Item t = new Item();




t.value = i;




list1.add(t); }



ListIterator iter1 = list1.listIterator();



LinkedList list2 = new LinkedList();



ListIterator iter2 = list2.listIterator();



while(iter1.hasNext()){




Item t = (Item) iter1.next();




if(t.value % 2 == 0) {





iter2.add(t);




}



}



System.out.println("List 1: " + list1);



System.out.println("List 2: " + list2);



LinkedList list3 = new LinkedList(list1);



ListIterator iter3 = list3.listIterator();



while(iter3.hasNext()){




Item t = (Item) iter3.next();




t.value *= 2;



}



System.out.println("List 1: " + list1);



System.out.println("List 3: " + list3);


}


}
List 1: [0 , 1 , 2 , 3 , 4 , 5 ]
List 2: [0 , 2 , 4 ]
List 1: [0 , 2 , 4 , 6 , 8 , 10 ]
List 3: [0 , 2 , 4 , 6 , 8 , 10 ]

